
Exhibit ______

R = * _____ ft
(30 – 126) ft

R = *_____ ft
 (8 – 30) ft

Existing shoulder width plus 0 – 4 ft *

Right of Way Line
 Width= *  _____ ft
(30 – 50) ft

Slope away from roadway for 
stormwater runoff

____ inch Culvert (if required) 
with beveled ends, armored with 
quarry spalls  (match ditchline)

SU ‐ 30 and Larger

 
Variable 

                                                                                 Curb as needed 

 
 

   
   

 Edge of traveled way 
 

Catch basins as needed  
____ 

           
 

2 ft CSTC 
along radii

Right-iof-Way Line

* Determined during Permit review

in.  min diameter culvert  
pipe,   if required


